PHYSICS | ((0 A

N NN SET

R/

[|] /\./:.
fN) =0 =

Pka&e -ﬁ[o w

N=0 5
F)

/f‘)‘;“ —_
0

1

* =
)
1]
{
] N ! N
7 —< <

aN - EA//nl\/ = 7[[,\})

/4/\/:5 = A= /{;:—. e)(/o/f)

Yol /"4)(1:41(/544 VA&V’ f?l\/) < O
Q- b_‘L/n/J:O = /\/-7

Kle K S

Aﬁﬂﬁi'lyc 50/u7‘:&v, : set- d_-.; /,,/\/ =
j = Q -—éﬂ
A 1l [aby) = dE
a——éj A
) ‘*’47”}/- Lt
a-541) |
_ _Lt
3[17) 2 ‘E+ (j{o}-i-)e
_Lt
/n/\/ = /nk%’ /.4[2"1‘)) e
_ Lt
Me) \ €

t

K/e



[2]

£

N = anl-bn® - N (a=bN) . Fxed poits of A./:o),(/-:;—,
jcw) N=0 . vnthAdl
N o= -g' ' €7’7J[2
&
-"0
a/b N
HMM:M AoewicesS ¢ /\] = —L/\./-/—Mu?' SA-/g
Now Flw) = = N(bn = an L) . Sef  ba’~an+b =0
| ) a+ Jal-dlh
Ajt - 2b
02
I£ Lt> l, 4é- ) ‘7ZM &~ po rvufy} ool 7£&J)<O)

Wl N0 o ;‘te_m.éa Axed pnaf, JF 4<4¢, wt lare
‘t/hr% 'ﬁw«"—b( Pom

3~

(%4
D

N

» gé | £(J)

v/\\4 M

N = 0 [stile)
a.Ja-4bh
M= = 7 [omsteble)

Qf‘/iy—'“{gl‘) [SJ‘AA({) .
Q .



e S]]

xR .
§r=5g'§a+m I
2 Jer4Ll,
g_f 20 S a3 tan)"- 4%, geLy ™
Z Z " = 0
al xt A
2z ’O fo’.d(feét -
mﬁ.l

2 (at-qh) + a (et del)” —
2

-~ Q] +* - _.Z
_fzq}a_ ¥
S - g

Y
= (at-dbl) =

721‘U’) ﬁz"' ‘{QL\ = _‘_‘.z =5 N :
4 7%
For ln.-.[ﬂ”" R = 1 _‘2_“_2[ q] Sa3
? 2b q‘g :-3—' - ’#___é_z
Fa( L\> (7C z - i E_Z ag
’ L & ZE . T,
/""":""*‘ honvest
R .
/A(.scwd’\.ndws An:‘) j{wn\ R[Lc):g:]' b 2[1’6)50 :
R=0 For b> b,
1 -
= i
. Zat



B, Tt gy

[3]) (a) flu) = a win  ado  has  we Fxed poruis

U=0 = ult) = ule) +at

(é> 76/{1) =0 hos all utlR as 7{:}(50//)0);73

(:( :—O = M/“') =(4(°)

(c) flu) = a omlru) hes bl u €Z d‘ff%ez//”‘;ﬁ'
and po dhers (ado).

(:( = ase(nw = d‘( = -744/"7‘»"(2{7“) =adt
S 10 (71¢)) / :

at
ult) = 7_;_? ,l,,;’)‘ ﬁ,,[gu{o)) e” ]

[J) ‘17(, s /;»Passf.L(L + /uwe Pyea}c/a "ﬂ,,\e,e 74%54/

pords o sHable. Skl FPs alkimek it onshil FA.

AfLest oo Guld bt hie SFP 4l ae UFP ey

(e) Flu) = Uln1 Y la=2)la -3) (-t ) (a-S -6 )0 ~2 ) fu~8 ) e |

Mg JO FP at “Uu=0,1, .. g
£

/

7)



| |

() To heve Fﬂc;}eé Pvo  FP  and Fla) Su /s

V)anﬁm«{h‘c . [xam/&, : f/u):—a /az_/)-’- y/ﬁ a>o :

£

Ny ’ mw=4=21 art A

**7’{7?‘7* palf -shble £

/j) Lo oo~ fad >0 escape t 2 o Anile Fie
Fld) must G biter Haw w Frr AB0. S, larl ,
Mmooy et yco et Gscge h —o o A fe Fue,
Fln)  (amnst G Sosher fan w F~ w<o. A

ximple schibying Lot onfrin s #a) = (e~ 11
‘[,ﬂo)lc, 7£/0)=0). Ja/t/?’?m Z‘)c-)/
Ayl li-eT) = dt/T
e

ult) = = | [7.7‘ (e _1) et ]

)
Ul) >0 => T, = T /4/7?;:—“7;3‘

(A/O)(O - Yylt) ~ ,% ’/n(f—u[a)—’) £ ad t

~




EASL* 5 SQUARE

ETS LYE-
YCLED WHITE 5 SQUARE

SHE!
REG'
RECYCLED WHIE & SQUARE

389 200
-302 100
-399 200

2
4;

e

Madeinll. 5 A

Cu=7lhari)

U=TTk //{éZ) :
anﬁ»élé

fla) undedie

(&) &=uli-n) < 5
A
W=0 : unsible /l !
u = st=ble s
(L) o= fom u ‘ 4
i U
(¢) & l-e ™"
70' U=o hﬂ/# 'J‘A"g(e
U
[0() LZ = [,([/——&1){2,'0?)
U=-0 : unstdle
= : jﬁugéf_
Uz12 = yns Al
le) w=ul6-w)
W=§ : stable
(F) v =lru
=1 : unstzhle




-FASE® 5 SQUARE
100 RECYCLED WHITE 5SQUARE
42.309 200 RECYCLED WHITE 5 SQUARE

42-389 200 SHEETS EYE.
00

42-392

51 Uk = Vol -1)*

Tl‘\/s \Q”C{V{n’) I_S e - /QM(J! M( /445 Miame,  af x = f_/;,
e (ta) =0:

(e} £:20,

(5) /

(c) Fk/mwa/ Ulx) 1 The I/I'C//?rzi(g, of x-a

Xeat+e (e swall) =
Ulate) = Ula) + U//ﬂ/ € + —/U”/a}ézv'- ..

U/X) = U f”" - X ; = U/a}:() ,U//‘J=0,U”/a/= 5_89
a
e € fl’lv@//
Mg =

_ Uu( e - W ‘
U”/a} ‘ B4
> W=/ T T ma

e




| |

5 SQUAI

o

CYCUED WHITE 5 SQUARE
CYCLED WHITE RE

49392 100 A
42305 200 RE

MadeinU. S A

6] Uk) = U, (= -S)

U()(\:O D X =4

V') =6 > x =2

) U |
a 2
0 ' ; - €:=0
ELO
U, 1- - ==
£>0
vy X
-/ E=0 (sepuratoy)
N
x
%@O
E=-7Up
/() Ne Wwe
xa/r)
Tle) = JTJ

X/E’)‘/F U[i‘)
whee XLNI/F) vt 7%@ %rn/hé /Da)k;}ls, Le s Lok e

E = =AU, A 0</\<;f

Fst  sile fo f"fm'm@ l)a,L\fs:

Uy = v, (5 - %)==




st 3 oA IR

45392 100 SECYCLED WIITE 5 SOUARE

42-399 200 RECYCLED WHITE 5 SQUARE
nus A

PRy

we-ooy

Thes A[gsl—§+,=o

11 —4X
2N

\
A1
e

(K

as,

T f’ =
= M q 2

\,leal s ds
AUy

Y Jl5,-S)5-5-)
We g do e :;uléjm// Let

Fimel /5’;7/6/ ’/5,+5.)+ [ [5,-5-) T

omar ., 4y 7 [ra?
= ’;- U )\3 / //,\:E-) :32 UO
1 U

N0{€ ‘Mld‘ U'I(a?) 5 st So  Wav X=2a we W
(UO/SM;] 2 s Ouv C)clorf’YS/:M ﬁ‘:’ej for ;\_;"./;

‘e
, / Inmgl U(,)
T(A=3) = an Tl p-7§? N e

(4]

~




